=[Eid H=rH SEiTER

EEHB T

IE T SHRERE

BEHITEE

BET

FJ series

@ SHASELELRR ¢ 920~ @200

YD

=
AR
= s n rrayrrr=
& BS (mm)
FJ-%- 3 M3X0.5 0.019 - - 0.5
4 M4 0.7 0.053 - - 0.5
5 M5x0.8 0.121 ) - 0.5
6 M6 X 1.0 1.08 - ; 0.75
8 M8 X 1.0 1.08 1.08 1.08 0.75
8-1.25 M8x1.25 1.08 1.08 1.08 0.75
10 M10%1.25 2.45 2.45 2.45 0.75
12-1.25 M12X1.25 2.45 2.45 2.45 0.75
12 M12X 1.5 2.45 2.45 2.45 0.75
+50 —10~60°C
14 M14X 1.5 5.88 5.88 5.88 1.0
16 M16X 1.5 10.8 10.8 10.8 15
18 M18X 1.5 10.8 10.8 10.8 15
22 M22X 1.5 17.6 17.6 17.6 2.0
26 M26 X 1.5 27.5 27.5 27.5 3.0
30 M30X 1.5 60.8 60.8 60.8 3.0
sk 36 M36X 1.5 87.3 87.3 87.3 4.0
o 40 M40 X 1.5 87.3 87.3 87.3 4.0
_ 45 M45x 1.5 108 108 108 4.0
K 1 BAERBESHETHSRE.
32 : FJ-8-1.25. FJ-12-1.2579i%&M 5. FJ-36. 40. 45K
BEEES,
& 3 1 F)-6~A5H9HT I PATH L Sho
BERTAE
=
: (AD-0-3-Cro
Ea= A =&
B 0== &
0 kR
L it REBY
ﬁ':“ =
@ B AR x BEE L —
\ ZX 8 St o | L | F
3 |M3X0.5 °
4 |M4x0.7 °
5 |M5x0.8 °
6 |M6X1.0 °
NI R 8 |M8X1.0 e o | o
8-1.25 |M8x1.25 o | o | o
EART AR | pE | En 10 |M10x1.25 e o | o
12:1.25 |[M12X1.25 o | o | o
12 |M12X15 e o | o
B3l e [ @ | @ | ® 14 |M14X15 o | o | o
Rx5| P40 | A | A | A 16 |M16X1.5 ® e | o
fy |Piel P | WENBPARE | o sismm O emame 18 |M18X1.5 © o | o
Te pao A A EZWAAR. 0 M5 22 [M22X1.5 e o o
26 |M26X15 e o | o
. 30 |M30X15 e o | o
S 36 |M36X15 e o | o
40 |M40X15 o | o | o
45 |M45x15 e | o | o
2 CKD





